Test marks for 2 groups
 (
Groups taking the test
)


1. Fill in “boys” or “girls” to make these statements true for the above dot plots:

a) The ____________ median is higher than the _______________ median.


b) The __________ marks are more spread out than the ________ marks.


c) The middle 50% of the ___________ marks are more spread out than the 

middle 50% of the ____________ marks.




2. Is the difference between the sets of data enough that you can make a claim that these groups would be different in the population? Explain why or why not?







Test marks for 2 groups
 (
Groups taking the test
)


Write some statements comparing these 2 sets of data.
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Can we claim that there will be a difference back in the population? Why or why not? 

Open	girls	boys	44	25	High	girls	boys	55	57	Low	girls	boys	11	8	Close	girls	boys	25	34	Open	girls	boys	39	25	High	girls	boys	55	51	Low	girls	boys	8	12	Close	girls	boys	32	39	